
ASSEMBLY INSTRUCTIONS 

Before You Begin: 

Thank you for your purchase! 

WICKER PATIO 
DINING SET 

Please indentify all component parts and hardware pieces required before you begin. Carefully remove all of the 
components from the packaging and set aside for assembly. Assemble on a soft surface to prevent scratching 
during assembly. 

Caution: 
Tighten all components securely before use. Failure to do so may result in personal injury. 
DO NOT use any sharp objects to open plastic wrapped components as damage to product or components 
may result. 

Warning: 

CHOKING HAZARD - Small Parts. Adult Assembly Required. 

DO NOT ALLOW CHILDREN TO CLIMB ON FURNITURE 

Serious or fatal injuries can occur from furniture tipping over. You must install Tipping Restraint Hardware (where 
included) to help prevent the unit from tipping and causing accidental injury, instability, death or damage. The tipping 
restraint is intended only as a safety measure, it is not a substitute for proper adult supervision. 

To help prevent furniture from tipping over it must be permanently attached to the wall. Anti-Tip Safety Wall Straps 

suitable for the unit weight and wall materials (if not included) should be purchased and installed. 





Left and Right Table Top Middle Table Top Left and Right Table Legs

Left and Right Table End Frame Middle Table Support Leg

Right Chair Frame Left Chair Frame Seat Frame

Folding Seat Base Back and Seat Cushions



Allen Wrench_2pcsBracket_12pcs

PATIO TABLE ASSEMBLY

 Attach the Left and Right Tabletops (Part A) to the 
Middle Table Top (Part B) using (8) M6x35 Bolts 
and (8) M6 Washers (Part 2). Hand tighten.

Washer
Bolt M6x35

Left Table Top 

Middle Table Top 

Right Table Top 



 Attach the Left and Right 
Table Legs (Part C) to the 
Tabletop using (8) M6x15 
Bolts (Part 3) and (8) 
Washers (Part 2). Hand 
tighen.

Right Table Leg
Left Table Leg

Washer

Washer

Bolt 
M6x15

Bolt 
M6x15

Bolt M6x15

Washer

Washer

Bolt M6x15

Right Table End
Frame

Left Table End
Frame

 Attach the Left and 
Right Table End 
Frames to the 
Tabletop and Left and 
Right Table Legs 
using (8) M6x15 Bolts 
(Part 3) and (8) 
Washers (Part 2). 
Hand tighten.



Bolt 
M6x15

Bolt 
M6x15

Washer

Washer

 Attach Middle Support Leg (Part E) to the 
Left and Right Table Legs using (4) 
M6x15 Bolts (Part 3) and (4) Washers 
(Part 2). Securely tighten all bolts using 
Allen Wrench (Part 6).

Middle Support Leg

 Return table to 
the upright 
position.



PATIO CHAIR ASSEMBLY �Attach the Right Chair 
Frame (Part G) to the 
Chair Back (Part J) 
using (2) M6x35 Bolts 
(Part 1) and (3) M6 
Washers (Part 2). 
Hand tighten.

Right Chair Frame

Chair Back

Washer

Washer

M6x35 Bolt

M6x35 Bolt

Right Chair Frame
Chair Back

Washer

M6x35 Bolt

Seat Frame
�Attach the Seat Frame (Part I) to 
the Right Chair Frame (Part G) 
and the Chair Back (Part J) using 
(3) M6x35 Bolts (Part 1) and (3) 
M6 Washers (Part 2). Hand 
tighten.



�Insert the peg on the Folding Seat Base (Part K) into the Plastic
Washer (Part 4) then into the Right Chair Frame.

Plastic
Washer

Peg

Peg

Folding Seat Base

�Insert the peg on the Folding Seat Base (Part K) into the Plastic Washer (Part 4) then into the Left
Chair Frame. Plastic

Washer

Plastic
Washer

M6x35 Bolt
Washer

Left Chair Frame

�Attach the Left Chair Frame 
(Part H) to the Chair Back and 
Seat Frame using (4) M6x35 
Bolts (Part 1) and (4) M6 
Washers (Part 2). Hand 
tighten.



Washer
Washer

M6x15 Bolt

Bracket

M6x15 Bolt

�Attach (2) Brackets
(Part 5) to the Seat 
Frame using (4) M6x15 
Bolts (Part 3) and (4) 
Washers (Part 2).  
Tighten using Allen 
Wrench (Part 6) then 
push the Folding Seat 
Base down.

�Ensure all bolts are securely 
tightened using the Allen Wrench 
then add Back and Seat Cushions 
(Part L).



CARE AND MAINTENANCE

Resin wicker furniture requires minimum maintenance.  Follow these basic tips to 
prolong the life of your resin wicker furniture.

* To help prevent fading, and prevent the build-up of leaves or other debris, store
cushions indoors and cover furniture with a breathable cover when not in use.

* For winter storage, move the furniture to a cool, dry location and cover.  Ensure
cushions are dry before storing and safe from animals.

CLEANING
Do not use harsh chemicals or abrasive materials to clean furniture.

CUSHIONS/PILLOWS
* Brush or vacuum loose dirt.
* For stubborn stains clean with a mild detergent and cool water using a soft bristle
brush.

FURNITURE FRAMES
* Brush, vacuum, or use a garden hose to remove loose dirt or debris.  If using a
hose with a spray nozzle, use a gentle or medium setting.  Using a high pressure
spray may damage the furniture and void the warranty.

* Mix 1/4 cup of mild detergent to 1 gallon of warm water.  Using a soft bristle brush
gently scrub the resin wicker.

* Spray with a garden hose or use a bucket of water to rinse all soap residue.

WOODEN SURFACES
* Wipe down wooden surfaces with water only followed by a dry cloth.  Do not use
detergents.


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Blank Page



